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QUESTION 1

What are two features of a WSDL 1.1 document? (Choose two.) 

A. Service defines a collection of related endpoints. 

B. Service describes the message\\'s payload using XML. 

C. Service assigns an Internet address to a specific binding. 

D. Porttype declares complex data types and elements used elsewhere. 

E. Porttype elements are used to group a set of abstract operations. 

F. Porttype defines a concrete protocol and data format specification. 

Correct Answer: AE 

 

QUESTION 2

Given the Java fragment and schema: 

1.

 //-- Java code fragment 

2.

 public enum USState {MA, NH} 

3.

 //-- Schema fragment 

4.

  

5.

  

6.

  

7.

  

8.
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9.

  

10.

 // .NET auto generated code from schema 

11.

 public enum usState { NH, MA } 

Which statement is true about .Net and WCF interoperability for this data? 

A. Based on the fragment, enumerations map well between Java and .Net. 

B. The subtle differences in the variable names make it clear these enumerations are NOT interoperable. 

C. The XML schema reveals the type on the enumeration is lost across the platforms. 

D. This exchange would be interoperable if the annotation @XmlEnum was applied to the Java method. 

Correct Answer: A 

 

QUESTION 3

A company uses Web services to exchange mortgage and credit data as well as digital versions of associated
documents. The data is confidential and it is common for the service and client to exchange applications, credit results,
reports and more in a request/response format. Recently, the company has become concerned about the substantial
cost of processing and message encryption with a PKI approach. What can be done to cut costs? 

A. use MTOM to optimize the messages and provide data confidentiality via XML Digital Signature 

B. because of the weak adoption of WS-SecureConversation on Java platforms, consider using Kerberos 

C. use HTTPS as it is both economical and adequate 

D. use WS-SecureConversation and MTOM to reduce the processing overhead 

Correct Answer: D 

 

QUESTION 4

RESTful Web services have an interface of well-known standard operations, and all services are accessed through this
interface. What are the four standard operations available for RESTful Web services? (Choose four.) 

A. GET 

B. CONNECT 

C. PUT 

D. SUBMIT 
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E. POST 

F. HEAD 

G. DELETE 

Correct Answer: ACEG 

 

QUESTION 5

What are three characteristics of JSON Web service messages? (Choose three.) 

A. provide interface contracts that are easy to enforce 

B. are self-describing 

C. utilize a collection of name/value pairs 

D. utilize ordered lists of values 

E. provide built-in message security 

F. allow minimum to no coding of object de-serialization 

Correct Answer: CDF 
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